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Que. 1(a) Explain the test of significance of proportion of two large samples. 10
(b) A random sample of 400 items gave mean 4.45 and variance 4. Can the sample 10
be regarded as drawn from a normal population with mean 4?

OR
Que. 1(a)  Write a note on Types of Error. 10

(b) A machine produced 16 defective articles in a batch of 500 articles. After 10
overhauling it produced 3 defective articles in a sample of 100 articles. Has the
machine improved?

Que. 2(a)  Explain the test significance of a Mean of a Small sample test, 10
(b) The sales data of an item in six shops before and after a special promotion 10

campaign are as under:
Fnops A B C D E F
Before campaign 53 28 32 48 50 42
| After campaign 58 | 32 | 30 | 50 | 56 | 45
Can the campaign be judged as success? Test at 5% level of significance.

OR
Que. 2(a)  Describe the test of significance means of two independent small samples. 10

(b) A random sample of 27 pairs of observation from a bi-variate normal 10

population gave a correlation co-efficient of 0.8. Is the correlation in the
population significant?
Que. 3(a) What is Variance Ratio? Explain the test based on it. 10
(b) To test the efficacy of a new drug a controlled experiment was conducted where in 10
300 patients were administrated the new drug and 200 other patients were not given
the drug. The results obtained were as follows:

Cured Condition worsened | No effect Total
Given drug 200 40 60 300
Not given drug 120 30 50 200
Total 320 70 110 500
Is drug is effective?
OR
Que. 3(a)  Explain y?-test as independence of two attributes. 10

(b) The following are two random samples drawn from two normal populations. Test the 10

hypothesis that the population variances are equal.
| Sample—1 [20[ 16 [ 26|27 [23 2218 24] 25 | 19
Sample— I | 27 |33 |42 [35 |32 34|38 | 28] 41|43 |30 | 37
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Que. 4(a) In a sample of 100 items 10 are found to be defective. Find 95% and 99% confidence
interval for population proportion of defective items.
(b) What is confidence interval? Write confidence interval for population proportion of
success.
OR
Que.4{a) The mean of sample size 400 is 82 and S.D. js 18. Find 95% and 99% confidence
interval for population mean.
(b) Whatis confidence interval? Write confidence interval for population mean.
Que. 5(a) Explain Median test.
(b) Adieis roil 15 times with the following results, test the hypothesis that die is fair
using Kolmogrov Smirnov test.
| NumberonDice [1]2]3]4]5 (6
L Frequency 0|14 | 0(4|6

OR

Que. 5{a)  Explain Run test.
(b} A bank manager claims that the median number of customer per day is no more than
750. A teller doubts the accuracy of this claim. The number of bank customers per day
for 16 randomly selected days are listed below. At 5% Level of significance, can teller

reject the bank manager’s claim?
7751765 | 801 | 742 | 754 | 753 739 | 751
745 [ 750 | 777 | 769 | 756 | 760 | 782 789
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